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Ex:
>>x=[010 20 30 40];
>>y=[0.5 0.7 0.9 0.6 0.4];
>>area=trapz(x,y) Yo7}
area =

26.5000

> trapz
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s @ A g f(X) 22353 @ quad, quadl

| = quad(@fun, a, b) | GEBEEFE &)

| = quadl(@fun, a,b) | (B =- =3%)

fun : z_& 3 #h function m-file 4% %
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= EX: jole‘x cos(x )dx

1. edit fun.m
function y=fun(x)
v=exp(-x).*cos(x);

2. 4% # (¥ 3| Matlab Command Window)
area=quadl(@fun,0,1)

AR

area=quadl(‘exp(-x).*cos(x)’,0,1)
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« 741 diff 3k

d = diff(z)
= [z(2) —z(1),2(3) — 2(2),...,2(n) —x(n —1)]

EX:

>>x=0:0.1:1;

>>y=[0.50.60.70.91.21.41.7 2.0 2.4 2.9 3.5];
>>dx=diff(x);

>>dy=diff(y);

>>dydx=diff(y)./diff(x)
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Ex: f(x)=sin(x), f'(x)=? xO[ 0]

>> x = linspace(0,pi,20);

>>y = sin(x);

>> d = diff(y)./diff(x); % backward or forward difference

>> dc = (y(3:end)-y(1:end-2))./(x(3:end)-x(1:end-2)); % central difference
>> dy = cos(x); % FE i B

>> plot(x, dy, x(2:end), d,'0', x(1:end-1), d,'x', x(2:end-1), dc,'M")

>> xlabel('x"); ylabel('Derivative")
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Matlab % ¥ #cs = 230

s RfRACA S AN % =f(t,y) : ode45, ode23

[t, y] = oded5(@fun, tspan, y0)

t: FF (f‘frfv" 1)

y: ﬁ"’er’T * 2 E(F - L - BRERE - P ET
FeE td mfﬁﬁ&)

fun : # it ode function m-file 44§ &

tspan : ff & R ([A24pF B & APFR])

y0 : 4~ 4518

= odeZ & #h#est t i~ Sty o A gd G AT dyldt

T e &

functiondydt = fun(t, y)

dydt(1) = < Insert a function of t and/or y here. >
dydt(2) = .............
dydy = dydt’; %z = 7% &
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- d B
Ex: % =y, +y,e t
) dy y1(0) =0, Vv, (0)=1
Yz —y,y, +cost)

1. edit fun.m

function dydt=fun(t,y)
dydt(1) = y(1)+y(2)*exp(-t);
dydt(2) = -y(1)*y(2)+cos(t);
dydt = dydt’;

2. % f20ded45 ode23 % v i/matlab command window
[t,y]=0ded45(@fun, [0 10],[0 1]) %[0 10]: t+ =2, [0 1]: xed= b8
yl=y(:,1);

y2=y(:,2);

plot(t,y1,'r',t,y2,'q)



Matlab &2 ¥ #c s = 42.3¢

= 2@ H B 28 % ode function m-file

[t, y] = oded5(@fun, tspan, y0, options, pl, p2)

t: /i

y :fReras a2 sE

fun : % it ode function m-file #4% &

tspan : f » PFR ([A4epF R B A PFR])

y0 : 4= 4518

options : ode452 3% ®iE% > F A4 TR [] A F
pl, p2 : &% fun.m 2 %3k

= odez_& 4% 5\ :ﬁi%J» = t,y,pl, p2:; a@?]:", & & T
dy/dt i w £
functiondydt = fun(t, y,p1, p2)

dydt(1) = < Insert a function of t and/or y here. >
dydt(2) = .............
dydt = dydt’; % = (7w &
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Ex: V' +e 'y +cost)y =sint)e™, y(0)=1 y'(0)=0

Step 1. #-J ;N & =8 B = - FEpgs > 25N 0 £
V=Y = Y=Y
Y, =Y =y, = Yy, =y =sint)e" —€'y,—cost y,
Vi =Y,
— , 0)=1, 0)=C
{y; =sint)e™ —e'y,—cost y, %) Y2 0)

Step 2. * =it * £ £ f%
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= Matlab# + fjzde4s @ ¥ fos > 4230 B AL i 4
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Non-stiff ODE

ode45

ode23

odell3

Stiff ODE

odel5s

ode23s

ode23t

ode23tb

= Stiff ODE 4; ¢
AP ¥ E iR z% &
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,L Exercise
# % 0ded5 % £12T | pcA S AN > B L t=0 7| 20

[ |

TH N Y B Y, 2 B
fdy
d_'[l =ay, — O-6y1y2

2
a, _
| dt

, ¥%.(0)=2,y,(0)=1
by, +0.3y,Y,

= Case 1: a=1.2b=-0.8
= Case 2: a=1.0b=-0.6

" ME ] 0 1 % x(0)=1
%, | |-1000 -1001] x, X,(0)=0



M N #ic % ¥(DAE)

n g/ i ik bi(Differential-Algebraic Equation, DAE)4
- e P B AR B RN ek kLo

y1: fl(x1y1’y2""’yN) |:> My:F(X,y)
S’2 = fZ(X, Y Yo ’yN)

: X = B Hc i
y = fn(X’ y1’y2’;'_'_’}/_|\|_)“ y_[yl Yy, - yN] T
0T (yoyary) JOE SAONRACHERENO)
0= fn+2(x,y1,y2,-~ ,yN) M = {I n O} (Mass matrix)

: O O

0=f,. (X, Vii Yo ,yN) Use solver for stiff ODE: odel5s, ode23t

I.C. Y, (0)=V,,1=1,2;-- N  options = odeset(‘Mass’,M,’MassSingular’,’yes’)
(N = nt+m)



